
 

 

ক)      সময়           :                  

সম য়           স    স                        হয়    ক      সময়    

   ।              ক         সম য়         ১   ক    চ য়  জ ক  ১   ক   

        এ স    ক       সময়     হ স       চ   ক   হয়।  ম :-  ম   

    ছ    য়         সময় ১   ক য় ৮ ম  চ      য়     ,      ১  জ       

     ম ছ ১   ক য়    য়     ,- এ          ম    ম   হ    এ   স  ।   

এ           সময়            জ    ।      জ ২   ক     য় এক     স 

চক       য়       ,  জ    ক ১০    ২০  ছ     এ  ২   ক    ক       

  ক     । 

     সময়    স  ক          ক       ম   ক   ছ      ক য়ক       :-  

১. Benton –এ  ম  ”              ম   এক             চ য়   ম    

          ক     ম          ক      সময়       ।” 

২. M.Y. Khan & P.k. Jain –এ      য় ”Time value of money means 

that the value of a sum of money received today is more than its 

value received after a year sometime. Conversely, the sum of 

money received is future is less valuable than it is today.”     

     সময়          ঝ য়  জ ক              এক  ছ               

      ক     ।      ,            এক           ম        ম        

      চ য় কম      ”। 

   হ     :-  ম   ১০০০   ক  এ    হ  ক              ১০০০   ক  ১  ছ  

    হ  ক        ।     ম   ১০০০   ক   হ  ক  ,   হ    ম   এ  ১০০০ 



 

 

  ক       য়   ক   ১  ছ       সহ    ক    ম     ক            । ক      

 ম   ১০০০   ক  ১  ছ      হ  ক     হ        য়   ক            ক   

  ।     ক       জ            ক     ।     ম   ১,০০০   ক  ১  ছ     

             হ  ক    চ     এ        ম     হ  ক       ক  ছ  

ক    । 

 

            য়, সময়          স   স     ম                     

       হ য়    ক এ                    ম           হ য়    ক ।     

এ        জ       ক       সময়       । 

 

 ) ১ম                           য়:-  

১ম                           য় ক   হ   :-  

 ম   জ   ,                                   এ    ,  

              FV = PV (1 + i )n                    PV= ৮০,০০,০০০ 

                     =  ৮০,০০,০০০ ( ১ + ০.১০)
১

      i=   ১০%    ০.১০    

                    =  ৮০,০০,০০০    ১.১              n = ১ 

                    =  ৮৮,০০,০০০                       FV = ? 

 

 



 

 

 ) ২য়                 ম         য়:-  

     , FV1 = ৩৫,০০,০০০ 

            FV2 = ৩০,০০,০০০ 

            FV3 = ২০,০০,০০০ 

            FV4 = ২০,০০,০০০ 

                      য়  হ  , i = ১০%    ০.১০  

  

          = 

৩৫ ০০ ০০০

(১ ০ ১০)১
 + 

৩০ ০০ ০০০

(১ ০ ১০)২
  + 

২০ ০০ ০০০

(১ ০ ১০)৩
  + 

২০ ০০ ০০০

(১ ০ ১০)৪
        

           = 

৩৫ ০০ ০০০

১ ১
 + 

৩০ ০০ ০০০

১ ২১
  + 

২০ ০০ ০০০

১ ৩৩১
  + 

২০ ০০ ০০০

১ ৪৬৪১
           

          = ৩১,৮১,৮১৮ + ২৪,৭৯,৩৩৯ + ১৫,০২,৬৩০ + ১৩,৬৬,০২৭  

          = ৮৫,২৯,৮১৪           

ঘ) ৩য়                 ম         য়:-  

এ    ,  

   স  ক  ক  , A = ২২,০০,০০০ 

          য়  হ  , i = ১০%    ০.১০ 

 ময়  , n = ৫  ছ  



 

 

 

 

 



 

 

ঙ) ৪                  ম         য়:-  

এ    ,  

   স  ক  ক  , A = ২৫,০০,০০০ 

          য়  হ  , i = ১০%    ০.১০ 

 ময়  , n = ৫  ছ  

 

 

               



 

 

চ)   ম      য়    স     হ     ম  :-  

১ম  ক : ১ম  ক   জ                য়  জ  একক         ৮০,০০,০০০ 

  ক          ক    । 

২য়  ক : ২য়  ক   জ                য়  জ     ম  ৪  ছ     স  ক ৪  

 ক       ক          ক               ।   ৪   ক      ম      ৮৫,২৯,৮১৪ 

  ক (  হ      )। 

৩য়  ক : ৩য়  ক   জ                য়  জ     ম  ৫  ছ       ছ    

      ক      ক          ক               ।   ৫   ক      ম      

৯১,৭৩,৭০৪   ক (ঘ হ      )। 

৪   ক : ৪   ক   জ                য়  জ     ম  ৫  ছ       ছ    

      ক      ক          ক               ।   ৫   ক      ম      

৯৪,৭৬,৯৬৭   ক (ঙ হ      )। 

জ                য়  জ     ৪    ক    ম       ক      ম      কম 

 স   হ  ক    । ক      ম          য়           ক      ম      কম 

   ক  স   ক      জ ক। ক  জ  ৪    ক    ম   ১ম  ক            

৮০,০০,০০০   ক          ক        য় ক    জ            জ     জ ক 

হ  ।      ক  ৩   ক      ম      ১ম  ক        য়     ।ক  জ      

৩   ক   জ  ক    হ  ।   
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